Identités remarquables

Pour tous réels a et b :
e (a+b)*=a*+2ab+b*

a® + 2ab + b* est le développement de (a + b)? et (a+ b)? est la factorisation de a® + 2ab + b>.
o (a—b)*=a*>—2ab+b*

a® —2ab + b* est le développement de (a — b)? et (a — b)? est la factorisation de a® — 2ab + b>.
e (a—b)(a+b)=ad>—b

a® — b est le développement de (a — b)(a+b) et (a —b)(a+b) est la factorisation de a* — b?.

Exemples :

(3x+2)% = (3x)%4+2(3x)(2) +22 = 9x> + 12x + 4

L ’ 1 272 ! (4)+4271274 +16
2)( 2)( 2)( —4)( -X

(2x=/3) (2x+3) = (202 — (V3) =422 =3
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